


Maturity Matching

Learning Problems

Basic Maturity Matching at Hobson Ltd.
Hobson Ltd.’s controller is negotiating a line of credit for 2018 and has collected the following information:

	
	Current

Assets (CAD)
	Current Liabilities (CAD)

	2017 (Actual)
	
	

	  Quarter 1
	75,000
	22,500

	  Quarter 2
	95,000
	28,500

	  Quarter 3
	65,000
	19,500

	  Quarter 4
	50,000
	15,000

	2018 (Forecasted)
	
	

	  Quarter 1
	78,750
	23,625

	  Quarter 2
	99,750
	29,925

	  Quarter 3
	68,250
	20,475

	  Quarter 4
	52,500
	15,750


REQUIRED:

1. Calculate the desired level of temporary financing for each quarter in 2018.

2. Approximately what limit should Hobson request on its line of credit in 2018?
3. How would an analyst determine if Hobson is using temporary financing to fund its long-term assets?

Basic Maturity Matching at Juno Company
Juno Company’s controller is negotiating a line of credit for 2018 and has collected the following information:

	
	Current Assets (CAD)
	Current Liabilities (CAD)

	2017 (Actual)
	
	

	Quarter 1
	88,000
	39,000

	Quarter 2
	95,000
	45,000

	Quarter 3
	108,000
	52,000

	Quarter 4
	85,000
	38,000

	2018 (Forecasted)
	
	

	Quarter 1
	96,800
	42,900

	Quarter 2
	104,500
	49,500

	Quarter 3
	118,800
	57,200

	Quarter 4
	93,500
	41,800


REQUIRED:

1. Calculate the desired level of temporary financing for each quarter of 2018.
2. Approximately what limit should Hobson request on its line of credit in 2018?

3. How would an analyst determine if Juno is using temporary financing to fund its long-term assets?
Comprehensive Maturity Matching at Elli Ltd.
Jack Richards analyzed the financial statements of Elli Ltd. and collected the following information on December 31, 2018:


Plant and equipment, net

CAD 25,600,000



Depreciation expense

CAD 2,950,000



Long-term liabilities


CAD 12,450,000



Line of credit



CAD 5,450,000

Notes to the financial statements provided the following repayment schedule for the long-term liabilities:
	Due In
	Amount Due (CAD)

	Year 1
	1,500,000

	Year 2
	3,950,000

	Year 3
	2,340,000

	Year 4
	1,100,000

	Year 5
	1,890,000

	Year 6
	1,440,000

	Year 7
	230,000

	Total
	12,450,000


The line of credit agreement does not stipulate that it be paid down to zero once a year.  It was also determined that 25.00% of the company’s debts were convertible into equity at an exercise price of CAD 25.00.  The current share price is CAD 12.32.  December is Elli’s seasonal low.
REQUIRED:

1. Calculate the average maturity of Elli’s plant and equipment and long-term liabilities.

2. Analyze current maturity matching practices at Elli. 
Comprehensive Maturity Matching at Big Red One Ltd.
Bob Haskins is a loans officer at CIBC and is analyzing the financial performance of Big Red One Ltd., which is the bank’s biggest commercial client.  The following information was collected from the 2018 financial statements:



Long-term liabilities


CAD 7,850,000



Line of credit



CAD 10,220,000

Plant and equipment, net

CAD 35,350,000



Depreciation expense

CAD 4,170,000

A note to the 2018 financial statements provided the following repayment schedule for the long-term liabilities:
	Due In
	Amount Due (CAD)

	Year 1
	3,740,000

	Year 2
	2,005,000

	Year 3
	945,000

	Year 4
	850,000

	Year 5
	310,000

	Total
	7,850,000


Of the long-term liabilities, CAD 3,200,000 are convertible into common shares at an exercise price of CAD 12.50.  Big Red One’s current share price is CAD 13.56.  According to the loan agreement, the line of credit must be paid down to zero at least once per year.  Year-end is Big Red One’s seasonal low.

Economists are forecasting a severe recession in the coming year.

REQUIRED:

1. Calculate the average maturity of Big Red One’s plant and equipment and long-term liabilities.
2. Analyze current maturity matching practices at Big Red One. 

Cost of Trade Credit
Ruby Company purchased CAD 100 in inventory with credit terms 2/10, net 30.

REQUIRED:
1. What interest rate does Ruby pay if it does not take the early payment discount?

2. How would this interest rate change if Ruby "stretched" its payables to 45 days?

3. What should a company be careful of when "stretching" its payables?

4. Why would a company offer such a high-interest rate to be paid early?

5. What interest rate does Ruby pay if it does not take the early payment discount of 3/15, net 90?

Using a Committed Line of Credit at ABC Company
ABC Company received a committed line of credit of up to CAD 75,000 in 2013 to finance its inventories and accounts receivable.  The loan rate is prime plus 2.00%, and the prime rate is currently 10.00%.  Interest payments are due on the last day of the month and are calculated daily. The line of credit must be covered 2.00 times by inventories and accounts receivable.  The following schedule indicates the balance of the line of credit over the last two months:


January 1 – January 13
CAD 25,000


January 14 – January 25
CAD 43,000


January 26 – February 9
CAD 38,000


February 10 – February 15
CAD 30,000


February 16 – March 4
CAD 40,000

The prime rate rose by 1.00% on February 3, 2013.

REQUIRED:
1. Calculate interest payable at the end of January and February.

2. What is the effective interest rate for January if a compensating balance of 10.00% is required along with a commitment fee of 0.25%?

3. Based on Part 2, what is the effective interest rate for January on an annual basis?

Using a Committed Line of Credit at Sampson Ltd.
Sampson Ltd. was approved for a CAD 250,000 committed line of credit with the Royal Bank on January 1, 2018.  An interest rate of prime plus 2.00% was negotiated along with a commitment fee of 0.25% and a compensating balance of 6.00%.  The prime rate is currently 5.00%.  Interest is paid at the end of each month and is calculated daily.  

The line of credit is secured by accounts receivable and inventories.  It was decided that the company could borrow no more than 65.00% of its accounts receivable and 40.00% of its inventories.

The balance of the line of credit during January was:

January 1 – 8

CAD 35,000

January 9 – 25
CAD 84,000

January 26 – 31
CAD 80,000

The prime rate increased to 6.00% on January 21.   At the end of January 2018, there were CAD 156,000 in inventories and CAD 250,000 in accounts receivable.

REQUIRED:

1. Calculate the annual effective cost of borrowing for this revolving credit agreement based on January.

2. How much more could Sampson borrow on its revolving credit agreement at the end of January?

3. Why is the limit on the line of credit so much higher than the amount being borrowed in January?

Using a Committed Line of Credit at Hanson Ltd.
On July 1, 2018, Hanson Ltd. negotiated a CAD 1,000,000 committed line of credit with the Western Canadian Bank to finance its seasonable buildup of net working capital.  The loan is secured by finished goods inventories only, as the company has no accounts receivable.  Western Canadian Bank only lends 60.00% of the value of finished goods inventory due to concerns about its marketability.  At the end of each month, Hanson must submit to the bank an audited schedule of its inventories for review.

A variable interest rate of prime plus 3.00% was agreed to, and interest is to be paid at the end of each month.  The prime rate is currently 4.00%.  Hanson had a similar loan with the Bank of Nova Scotia but decided to change lenders because it was offered a lower interest rate.  

During July, the balance of the line of credit was:

July 1 – July 5

CAD 550,000

July 6 – July 24
CAD 780,000

July 25 – August 5
CAD 645,000

The prime rate fell to 3.50% on July 20.  

REQUIRED:

1. What is the annual effective borrowing rate in July if Western Canadian Bank charged a 0.50% commitment fee and required a compensating balance of 20.00%?

2. How much collateral must Hanson have at the end of July?

Nominal and Effective Rates
Dexter Company was trying to compare loans with the following quoted interest rates:

10.00%, compounded monthly

10.00%, compounded semi-annually

10.00%, compounded yearly

REQUIRED:
1. What are the nominal or annual percentage rates (APR) for each of the loans?

2. What are the effective or effective annual rates (EAR) for each of the loans?

Mortgage Loan with Blended, Equal Monthly Payments at Rose Company
Rose Company purchased a piece of land from the City of Vernon on December 1, 2018, for CAD 750,000.  The Bank of Montreal agreed to provide the mortgage but required a 40.00% down payment.  The mortgage had an amortization period of 15 years and a term of 5 years.  The mortgage interest rate was 9.00%, compounded semi-annually. 

REQUIRED:

1. Calculate the monthly payment.

2. Prepare an amortization table for the first two payments.

Mortgage Loan with Blended, Equal Monthly Payments at Wilson Company
On November 1, 2018, Wilson Company purchased a CAD 1,500,000 piece of land to construct a new factory.  CIBC lent 60.00% of the value of the land.  The mortgage had an amortization period of 15 years and a term of 5 years.  The interest rate was 8.00%, compounded semi-annually.  

REQUIRED:

1. Calculate the monthly mortgage payment.

2. Prepare an amortization table for the first two payments.

3. Why does CIBC not lend the maximum amount equal to 75.00% of the value of the land?

Mortgage Loan with Blended, Equal Monthly Payments at Belair Ltd.
On November 1, 2018, Belair Ltd. purchased land in Kamloops, B.C. for CAD 4,500,000.  The land is being used to construct a new amusement park for summer visitors.  Valley First Credit Union provided the financing but required a down payment of 40.00%.  Belair negotiated a 10-year amortization period and a 5-year term with an interest rate of 7.00%, compounded semi-annually.  Blended equal monthly payments will be made at the end of each month.  

REQUIRED:

1. Calculate the monthly payment on the loan.

2. Prepare an amortization table for the first two payments.

3. Describe three actions Belair could take to lower the monthly payment calculated in Part 1 if it is not affordable.
Term Loan with Blended, Equal Monthly Payments at ABC Company
ABC Company purchased new equipment for CAD 1,500,000 on November 1, 2018.  ABC paid 25.00% down and borrowed the remainder from CIBC.  The term loan had the following features:


Amortization period:

10 years


Term:



2 years


Interest rate:


8.00%, compounded monthly


Payments:


End of the month

ABC's accounting period is the calendar year.  

REQUIRED:

1. Calculate the monthly payment.

2. Prepare an amortization table for the first two payments.

Term Loan with Blended, Equal Monthly Payments at Delta Ltd.
Delta Ltd. is purchasing a new injection moulding machine to make plastic containers for local food processing plants. The cost of the machine is CAD 182,500, and the Bank of Nova Scotia agreed to finance the acquisition.  A 40.00% down payment is required.  The principal will be repaid in fixed monthly payments over a 10-year amortization period.  The term of the loan is 5 years, and the interest rate is fixed at 6.00%, compounded semi-annually.  

REQUIRED:

1. Calculate the monthly payment.

2. Prepare an amortization table for the first two payments.

3. Why does the bank require a 40.00% down payment?

Term Loan with a Customized Repayment Schedule at Jenkins Company
Jenkins Company negotiated a term loan with the Bank of Montreal to purchase equipment.  It had the following terms:


Amount:

CAD 500,000


Signed:

July 1, 2016

Due:


December 31, 2018

Interest:

Prime of 8.00% per annum plus 2.00% calculated quarterly


Repayment Terms:
Interest only is to be paid in 2016
Principal payments of CAD 50,000 at the end of each quarter, plus interest

No principal payments are required in the final quarter of the year due to high seasonal cash flow needs 





A balloon payment at the end of the loan


Accounting Period:
Calendar year

REQUIRED:

1. Calculate the principal and interest that must be paid at the end of each quarter over the life of the loan.

2.
What principal repayment methods are used?

Term Loan with a Customized Repayment Schedule at Eaton Inc.
Eaton Inc. negotiated a term loan with the Royal Bank to purchase equipment.  The loan had the following terms:


Amount:

CAD 1,500,000


Signed:

July 1, 2016


Due:


December 31, 2018

Interest rate:

Prime of 4.00% plus a risk premium of 3.00% calculated
 
quarterly


Repayment terms:
Interest only in 2016

Principal payments of CAD 150,000 at the end of each quarter, plus interest

No principal payments are required during the seasonal low in the third quarter of each year





A balloon payment is due at the end of the loan


Accounting Period:
Calendar year

REQUIRED:

1. Calculate the principal and interest that must be paid at the end of each quarter over the life of the loan.

2. What principal repayment methods are being used?
3. Describe two factors a bank should consider when deciding whether to defer principal payments.

Maturity Matching at a Canadian Company
REQUIRED:
1. Access the most recent annual reports for Hudson’s Bay Company (HBC) found on its company website or through SEDAR.
2. Research these annual reports and analyze HBC’s selection of temporary and permanent financing.  
3. Prepare an approximately 200-word submission describing HBC’s use of temporary and permanent financing.  All submissions should be well-researched and carefully written and edited before being posted to the discussion board.

4. Respond to the posts of at least three classmates.
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